EARAROBEEIERT — 2 N— IBISH —F

201952850 (K) 18EIA#H2H

EElzsscs cemicas o8 (hRE ¥ 52—

‘ [Riz] & ‘ [REBE] — | & (&) 12000 FHE

[A&4£] 1 7 :2,500,000 @ 23 :1,000,000 33 :625,000 4 3#%&:375,000 @ . 5 7 :250,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N B o5 | AR 1:14.5 12-12 | 37.5| — 1 501 | AR (KH#)
1 o | 7TROELXZ— 56.0 (=) (-5 | B s<5FT12
R:7RAX>TEL B:F7RANRZTIL NEBE FIX
_ LK 4 5 | FHEFEA 1:14.5 10-10 [ 38.1| — 3 487 | BEEIES (K3H)
2|5/ AUV—=T7#—IR 56.0 (7€) (-3) | _B) TR
Ry —3IUTe BTURT paiutie)
. TR — 4. -~ . - A (K3
31| F1E772—F - ) 6 |36 B A
B ALINT Ry TR BFAFTI LR Py e
5 . £ 8 | HEIERL 1:15.1 14-13 | 87.7| — 7 507 |EFHEE (KH#H)
4|8[15| TF %A 77| w0 @ wy |EERS
R:T7T1F43IVF— BTN RERYUS
R N I -15. . . — ZIRERHE (/\HR)
sB s vrETEL R we e [ N S AR =
LA VA HFH IR BRI TSY N
S o — 5B :15. = . — ZREEZ (KH)
6 3| YrRUTT 4R 7 . 1 1\5ﬂ2 1-1 39.9 4 232) Lhae
L:F15>8) B:XA—r7IYUZR > UR S
IRFRE :15. = . — TeILBETE (/\HE)
7 : MRz o g e A ° (f?i) EEES:
R:d—WKR7VUa—0 B:Dd-T74 91> HETr—L
. o— o KHEZ :15. - . - M (KH)
8 7 JILTIVINTG B A4 X o4 56_0E~ 1(31/54)4 Y .2 1 (453;3; NEE X
R:ZAw— b 773> B:YILTILE Y — biYstse ]
N . . BEEXEH :15. - . — SR (KFH)
9l7l10 EXHLUT # 5 & 1(11/52>5 7-8 39.7 10 (5253; I_J’.I_‘F¥ﬁ—
R:TLEFFE2Ta BiIUFLNyE-— gautie]
8,0, /50 5 i o7 | IEOHBE 1:15.7 =11 [38.9| — 9 434 | =IRBERUE (4ViA)
Eﬂm T LYY 56.0 (3/4) (-4 |PEREE
B ALINT Ry IR B:U—KNT Y W'D 7 — L
. . 5 | SHE :15. - . — WiERZ (K#)
111814 ]'7;?3'79_I)l/ % i\f55% (11115/49) i 403 8 (4—965) é%gﬁi
L:24¥>v bV BT V)Y 247714V NG
5 = f 7 | BlER 1:16.2 13-14  [39.0| — | 14 | 481 |SHEFT (K¥#)
EHH AT v —HTAF 54.0 (1 3/4) 0 =T
RAATAT v — BT7O-FNTY—> J—HrTp—Lh
—1y 5 | HEEE— 1:16.4 3-3 “n.0| — 6 496 |{EEHRIL (1)
13713 ¥&2/31-1> 54.0 (3/8) (+6) HAREN
L—5—2y T BrYLTIHF o Ll ki
—: s 7 | BEX 1:16.5 6-7 40.7 — 12 | 472 |ETEH (W)
14 6 JFF/AJF 54.0 (7€) 1) |ERILE
R:F4—TZHA B:v—%2TF=3F S >3
— s N Fi5EL — - — — — — | EFHE ()
x| 5] 9 —/F F7 4 8 o ) 5 e
L:TFaT 40 B2y /RMEX =Sltae]
® I —F—EBIERL
13—7+—
23—F—
Jol=5r= 3,5,13,14,4,6,12,1,7,8,10,2,11,15
40—+ — 3,5,13,(4,14) ,1,6,12,7,8,10,2,15,11
[ JIN=3
BB 2 420M 714K 2-8 690 % E 2-5 830M 3EHE 1-2-8 9,170/
8 B 2 190M4 1-2 1,300M B 2= 1,470 K31 2-8-1 33,930H
8 240M 1-8 2,060/ B E 2-8 1,550M
1 420M B 2-8 3,220/

ABICOVWTRDTEEERROODE. TR LIV,




